THAF2AMEFREARESER HEABER
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= - s ?? my | om (TN BE %% i
PRE [ 1A 201 |BARHET 1 2DK 34 | B4 22 22.0
PRE [ 1A 202 |BARHET 1 2DK 34 | B4 17 17.0
AR 1A 203 |(AMIETES%S 1 1DK 31 /| Fmi5 22 22.0
AR 1A 204 (ZETH 1 2DK 34 | B4 102 102.0
WER | 1A 205 |EHAETETHHS3 1 1DK 33 A | THI5 34| 340
WER | 1A 206 |RfEHE 1 2DK 34 | B4 20| 200
WER | 1A 207 |RfEHE 1 2DK 34 | B4 27 27.0
FERE | 1A 208 (BEAHT=TH 1 1DK 40 | T RL6 104 1040
IR | 1A 209 |[ER®Z=TH 1 2DK 33 | B4 18 18.0
IR | 1A 210 | KE/N\TE%2 1 2DK 33 | B4 6 6.0
IR | 1A 211 | KBATH 1 1DK 34 7 | T4 21 21.0
IR | 1A 212 |KBATH 1 1DK 34 f | Fal26 42 42.0
IR | 1A 213 |RBOTEX2 1 2DK 34 | B4 33 33.0
IR | 1A 214 |RBOTESE2 1 2DK 34 | B4 56 56.0
IERE [ 1A 215 |®E-TH 1 2DK 34 | B4 5 5.0
IERE [ 1A 216 |®E-TH 1 2DK 34 | B4 8 8.0
IERE [ 1A 217 |®E-TH 1 2DK 34 | B4 7 7.0
IERE [ 1A 218 |®E-TH 1 2DK 34 | B4 7 7.0
IR | 1A 219 | KE/N\TE%2 1 2DK 36 | B4 8 8.0
@IE | 1A 220 (&I 1 2DK 33 | B4 16 16.0
@mIE | 1A 221 |mmJIE4 1 2DK 34 F | B4 15 15.0
KHEHRE | 1A 222 |KRHB=TH 1 2DK 32 | B4 28 28.0
KHEHRE | 1A 223 |KHBE=TH 1 2DK 32 | B4 23 23.0
KHEHRE | 1A 224 |XAZ=TH 1 2DK 32 | B4 11 11.0
KHEHRE | 1A 225 |XA=TH 1 2DK 32 | B4 4 4.0
KHEHRE | 1A 226 |AFIH-TH%3 1 2DK 33 | B4 9 9.0
KHEHRE | 1A 2271 |BEAB—THEZE2 1 2DK 37 £ | ET46 16 16.0
KHEHRE | 1A 228 (FENHB=TH 1 2DK 37 £ | ET46 3 3.0
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KHEHRE | 1A 229 |(FEAMB=TH 1 2DK 37 £ | ET46 5 5.0
HESX| 1A 230 |MEZ=TH 1 1DK 32 /| FAe 43 43.0
HESX| 1A 231 |LkiLiR—TH%2 1 1DK 32 f | Faus 19 19.0
HESX| 1A 232 |t EXKAETH 1 1DK 34 7 | T4 26 26.0
HESX| 1A 233 |FTRZ-TH 1 1DK 34 f | Fal26 71 71.0
HESX| 1A 234 |MAZTH 1 1DK 34 f | Fal26 44 440
HERX | 1A 235 |(AEIL—THZE2 1 1DK 34 A | TH25 14 14.0
HERX | 1A 236 |(ATIL—THZE2 1 1DK 34 A | TH27 30| 300
HERX | 1A 237 |FTHEZ-THES 1 1DK 35 ® | TR 13 13.0
BEERX | 1A 238 (FAKEZTH 1 2DK 37 £ | ET46 153  153.0
X 1A 239 |BEMNE=TAH 1 1DK 32 f | FH8 30 30.0
X 1A 2490 |BEMNE=TH 1 1DK 32 f | FH8 9 9.0
X 1A 241 |REI=THB%2 1 2DK 33 | B4 13 13.0
X 1A 242 |RM=TRH 1 1DK 34 f | Fal26 7 7.0
X 1A 243 |EM=TH 1 2DK 35 #® | min4e2 20 20.0
RINE | 1A 244 |\BHEA/NTEE2 1 1DK 34 7 | T4 17 17.0
RINE | 1A 245 BTEARTEHEZE2 1 1DK 36 /| Fan 13 13.0
BB | 1A 246 |FE=TH 1 1DK 34 A | TH26 14 14.0
BB | 1A 247 |B‘E 1 2DK 35 | B4 57 57.0
BmERE | 1A 248 ([BEHR=TH 1 1DK 32 /| FAu1e 78 78.0
BRI | 1A 249 (m—TH%S3 1 1DK 33 | | FH12 20 20.0
BRI | 1A 250 [Idk—TH 1 2DK 33 £ | ET46 4 4.0
BRI | 1A 251 |fRAKRIES5 1 2DK 33 | B4 6 6.0
BRI | 1A 252 [EWEES 1 2DK 33 | B4 6 6.0
BRI | 1A 253 (MTDFEETH 1 2DK 33 | B4 20 20.0
BRI | 1A 254 (MTDFEETH 1 2DK 33 | B4 23 23.0
BRI | 1A 255 |(EFHHE4S 1 2DK 33 f | M43 18 18.0
BRI | 1A 256  ({FELET 1 2DK 33 ;| Wi 9 9.0
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BiIR [ 1A 257 |(RIATH-—TH 1 2DK 33 | B4 10 10.0
BiIR [ 1A 258 |iTdL@mTAH 1 1DK 34 7 | FH23 20 20.0
BiIR [ 1A 259 |iTde@mTAH 1 1DK 34 f | FH23 12 12,0
BRI | 1A 260 |(FEFHAEETH 1 1DK 34 7 | T4 15 15.0
BiIR [ 1A 261 |feETH 1 1DK 34 f | FH25 6 6.0
BiIR [ 1A 262 [{Td—TH%S 1 1DK 35 | TRL7 7 7.0
BiIR [ 1A 263 [JLEERZE2 1 2DK 35 f | B4 13 13.0
BRI | 1A 264 |EHES 1 2DK 36 | B4 6 6.0
BiIR [ 1A 265 |(RITH-—TH 1 2DK 36 | B4 11 11.0
BiIR [ 1A 266 |(JLEERZE2 1 2DK 37 ;| Wi 2 2.0
BiIR [ 1A 267 |{EMHEE4 1 2K 38 #& | BER™M46 9 9.0
BiIR [ 1A 268 |{EMHEE4 1 2K 38 #& | BER™M46 7 7.0
BHE | 1A 269 |BHBA-TH 1 2DK 33 | B4 8 8.0
BHE | 1A 270 |B®A=TH 1 2DK 33 | B4 14 14.0
BHE | 1A 21 |BRImTAH 1 1DK 34 A | TH28 25| 250
BHE | 1A 272 |HEBEATH 1 1DK 35 A | TH0 15 15.0
BHE | 1A 273 |EYINTEES3 1 1DK 35 A | FHs8 7 7.0
BHE | 1A 274 |BBA=-TH 1 2DK 36 | B4 9 9.0
IFNRE| 1A 275 |REB—THE2 1 1DK 32 /| Fa19 11 11.0
IFNRE| 1A 276 |REB—THE2 1 1DK 32 7 | Fmh22 18 18.0
IFNRE| 1A 2771 |REB—THE2 1 1DK 32 | | Fmh22 16 16.0
IFNEl 1A 278 [[IFJNI=TH 1 1DK 32 F | FH20 19 19.0
IFNRE| 1A 279 [/MRNIZTHES 1 1DK 32 /| FAu1e 31 31.0
IFNRE| 1A 280 |[/MRIIZETHE2 1 1DK 32 | | Faus 13 13.0
IFNEl 1A 281 [[IFJIATH 1 2DK 33 | B4 18 18.0
IFNRE| 1A 282 |iIFNIHRRZTH 1 2DK 33 | B4 24 24.0
IFNRE| 1A 283 |iIIFIRR=TAH 1 2DK 33 | B4 2 20
IFNEl 1A 284 (¥H#—TH 1 2DK 34 | B4 12 12.0
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IFNRE| 1A 285 |iIFJIVNEETZTAH 1 2DK 36 £ | ET46 38 38.0
NEFH| 1A 286 |HELE=TH 1 1DK 32 | | FH9 13 13.0
NEFH| 1A 287 |RE 1 1DK 33 |7 | FH12 3 3.0
NEFH| 1A 288 |RE 1 1DK 33 f7 | FH14 8 8.0
NEFH| 1A 289 |REH 1 1DK 34 f | Fm2s 24 24.0
NEFH| 1A 290 [/\EFRIIATE2 1 1DK 42 | TRE8 4 4.0

i | 1A 291 (AJIELRETATH 1 3DK 42 | E#s1 11 11.0
BREEFT| 1A 292 |REEHEET_THE3| 1 1DK 33 A | THT 52| 520

HolH | 1A 293 |[FQBTETH 1 2DK 39 £ | ET46 14 14.0

e | 1A 294 |FFPEEETEET B 1 1DK 34 7 | T4 11 11.0

mefm | 1A 295 |HhMES 1 1DK 32 A | TH8 8 8.0

BEH | 1A 206 |(HEBET=TH 1 1DK 33 /| Fmi5 4 4.0
Eftld| 1A 297 [ERATILZAHET 1 1DK 33 7 | T4 20 20.0

Eim | 1A 298 |(EIARZ=TH 1 2DK 39 #® | M4 13 13.0

mIm | 1A 299 |RiT 1 2DK 32 | Bfs 3 3.0

mIm | 1A 300 |#RiT 1 2DK 33 | B4 11 11.0

mIm | 1A 301 |#RiT 1 2DK 33 #® | min4e2 7 7.0

wmIT | 1A 302 |#RiT 1 2DK 33 #® | min4e2 4 4.0

mIm | 1A 303 |fRiL 1 2DK 33 #® | min4e2 8 8.0

mIm | 1A 304 ||RiT 1 3DK 37 ;| mind 5 5.0

mIm | 1A 305 |fAiL 1 3DK 37 | B4 6 6.0

mIm | 1A 306 |#AiL 1 3DK 37 | B4 10 10.0
BEXfId| 1A 307 |EEEE 1 1DK 33 A | THI5 6 6.0
EEALS[ 1A 308 (FHil 1 1DK 33 |7 | Fr27 6 6.0

ZEM | 1A 309 (BEZ1—FVUERE 1 3DK 40 #® | WEIn45 1 1.0

ZEM | 1A 310 (BEZ1—5VUBE 1 3DK 40 #® | EI45 8 8.0

ZEM | 1A 31 (BEZa1—5VUBE 1 3DK 40 #® | EI45 8 8.0

FRH | 1A 312 (K 1 1DK 32 f | Faus 5 5.0
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FRH | 1A 313 [fEWE2 1 2DK 39 | B4 2 20
FRH | 1A 314 (fEWE2 1 2DK 39 | B4 5 5.0
FRH | 1A 315 (fEHE2 1 2DK 39 | B4 3 3.0
KHEHRE | 1A 316 |MEATAH 1 2DK 36 | B4 13 13.0
X 1A 317 |(EM=TH%E2 1 2DK 33 | B4 3 3.0
RINE | 1A 318 |HTEARTAH 1 1DK 32 /| Fmi5 11 11.0
RINE | 1A 319 |HTEBARTAH 1 1DK 32 /| Fmi5 8 8.0
BRI | 1A 320 [ 1 2DK 32 & | 40 14 14.0
BRI | 1A 321 |BEAKE=TAH 1 2DK 33 | B4 3 3.0
IFINE| 1A 322 [(¥H#—TH 1 2DK 33 | B4 9 9.0
BREEFT| 1A 323 |BARE=TH 1 2DK 33 | B4 22| 220
FRH | 1A 324 (TEWE2 1 2DK 33 | B4 4 4.0
AR 1A 325 |[{LFWL—TH 1 1DK 33 f | THs 40 40.0
AR 1A 326 |&H—TH 1 1DK 46 f/ | THS 24 24.0
BmERE | 1A 327 |EMEZ=THES 1 1DK 34 7 | T4 27 27.0
BRI | 1A 328 |AEEEB=THZE2 1 1DK 36 f/ | THS 3 3.0
BRI | 1A 329 |(AEEE=THEE2 1 1DK 36 f/ | THS 5 5.0
BHE | 1A 330 [RmOKETTH 1 1DK 38 A7 | T4 15 15.0
BREEFT| 1A 331 |HE%/\WERTET H 1 1DK 30 A | FR2 11 11.0
e | 1A 332 |FFEalr 1 1DK 41 f | THs 16 16.0
BEH | 1A 333 |3 1 1DK 34 7 | T4 12 12.0
INERT [ OTA 334 |FE=HETE2 1 1DK 31 | T3 18 18.0
BEH [ 1A 335 |BE#HET—TAH 1 1DK 35 |/ | Fa2 7 7.0
BEH [ 1A 336 |&FJIE2 1 1DK 38 |7 | TH4 2 20
EasFh| 1A 337 |RET=TH 1 1DK 38 | | Fmio 40 40.0
mamkml 1A 338 |KMHET=TH 1 1DK 32 | TRL7 6 6.0
mamkml 1A 339 |KMET=TAH 1 1DK 32 | TRL7 9 9.0
BHE | 2A 340 (HREYI=THZE2 1 2DK 48 A | mme2 1 1.0
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BTHEHM | 2A~ | 341 [|LIFHETE2 1 2DK 57 BRAFn63 0.0
INETH | 2A~ | 342 [fE/NEHETH 1 2DK 53 TR 0.0
BEEM| 2A~ | 343 |BRET—TH 1 2DK 59 BRFN55 1.0
BAMH| 2A~ | 344 |HATEKZ=TH 1 2DK 57 BRAFn63 0 0.0
ImfElEr | 2A~ | 345 |EnfE 1 2DK 64 FRL10 0 0.0

At 145 2,471 17.0




